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1 ‡gv¯ÍvwKg wejøvn 97 99 99 100 95 100 590 ###gygZvR gyiZvdxA+ 1 DËxY©

2 Avwei †nv‡mb 90 93 88 98 95 93 557 ###gygZvR gyiZvdxA 10 DËxY©

3 Avt ingvb 90 82 94 100 93 90 549 91.50gygZvR gyiZvdxA 12 DËxY©

4 Rvwn`yj Bmjvg 96 99 78 86 95 100 554 ###gygZvR gyiZvdxA 11 DËxY©

5 Avt mvjvg 75 100 78 65 80 100 498 ### gygZvR A 21 DËxY©

6 Avj ivwd web eveyj 87 99 90 67 84 100 527 87.83 gygZvR A 18 DËxY©

7 Avj- nvexe 70 35 42 35 85 50 0.00 we:cv: DËxY©

8 KvIQvi 91 81 62 60 92 85 471 78.50Rv:wRÏvb gyiZvdxA- 27 DËxY©

9 kvwKj web Rv‡ei 77 93 62 77 73 93 475 79.17Rv:wRÏvb gyiZvdxA- 25 DËxY©

10 Bqvwdm 65 23 10 3 48 83 0.00 iv‡me F AK…ZKvh©

11 dvnv` f~Bqv 52 81 10 19 54 85 0.00 iv‡me F AK…ZKvh©

12 Avt ingvb-2 55 72 4 0 42 50 0.00 iv‡me F AK…ZKvh©

13 ivwk`yj Bmjvg 63 96 86 98 92 100 535 89.17 gygZvR A 16 DËxY©

14 Avt iwng 61 93 90 91 86 58 479 79.83Rv:wRÏvb gyiZvdxA- 24 DËxY©

15 Ryev‡qi 62 92 72 74 97 78 475 79.17Rv:wRÏvb gyiZvdxA- 26 DËxY©

16 mvÕ` 0.00 Abycw¯’Z

17 Igi web ivRy 52 56 32 30 10 75 0.00 iv‡me F AK…ZKvh©

18 Bdivb 65 94 62 46 96 55 418 69.67 Rv:wRÏvb B 31 DËxY©

19 gvndzRyi ingvb 51 84 83 72 98 93 481 80.17 gygZvR A 23 DËxY©

20 jvwee nvmvb 79 81 95 94 98 95 542 ###gygZvR gyiZvdxA 14 DËxY©

21 ‡gvt gywebyi ingvb 96 96 86 100 86 100 564 94.00gygZvR gyiZvdxA 7 DËxY©

22 dvwng web gwZDi 0.00 Abycw¯’Z

23 ZwiKzj Bmjvg 94 80 90 86 84 100 534 89.00 gygZvR A 17 DËxY©

24 Avwei nvmvb 55 63 84 63 85 63 413 ### Rv:wRÏvb B 32 DËxY©

25 Zvbfxi nvmvb 0.00 Abycw¯’Z

26 kvwKi f‚uBqv 90 97 75 77 90 98 527 87.83 gygZvR A 19 DËxY©

27 mvwgi f‚uBqv 40 10 0 14 40 20 0.00 iv‡me F AK…ZKvh©

28 BqvwQb 98 99 96 94 98 100 585 97.50gygZvR gyiZvdxA+ 2 DËxY©

29 w``vi 96 72 68 55 64 100 455 75.83Rv:wRÏvb gyiZvdxA- 29 DËxY©

‡gvU cixÿv_©x 50  Rb, A+ = 5 Rb, A= 18 Rb, A-= 7 Rb, B= 3 Rb, C= 1 Rb, D= 0 Rb|

we‡kl we‡ePbvq DËxY© 3 Rb|  ‡gvU DËxY© 37  Rb, AK…ZKvh© 13  Rb| cv‡ki nvi 74%
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1 gvwng Avjg 98 96 99 93 88 99 573 95.50gygZvR gyiZvdxA 5 DËxY©

2 widvZ web iwdK 96 86 100 70 99 97 548 91.33gygZvR gyiZvdxA 13 DËxY©

3 Avãyjøvn gCbyj 59 76 52 35 92 88 0.00 we:cv: DËxY©

4 mvwgDj Bmjvg 97 96 98 95 85 91 562 93.67gygZvR gyiZvdxA 8 DËxY©

5 wRnv` f‚Bqv 96 95 100 96 96 98 581 ###gygZvR gyiZvdxA+ 4 DËxY©

6 mvwKe Avj nmvb 0.00 Abycw¯’Z

7 ‡gv¯ÍvwKg gwbi 98 91 91 82 88 87 537 89.50 gygZvR A 15 DËxY©

8 Avãyjøvn †gvoj 97 78 96 95 95 99 560 ###gygZvR gyiZvdxA 9 DËxY©

9 Avey mvC` 98 94 99 90 91 94 566 94.33gygZvR gyiZvdxA+ 6 DËxY©

10 CmgvCj 0.00 Abycw¯’Z

11 Avt ingvb gCbyj 62 68 40 14 70 86 0.00 iv‡me F 1 wel‡q cixÿv

12 Zv‡iK nvmvb 35 84 48 70 50 70 0.00 we:cv: DËxY©

13 wi‡Rvqvb 81 84 14 58 40 98 0.00 iv‡me F 1 wel‡q cixÿv

14 mvweZ web †`‡jvqvi 58 43 10 31 68 74 0.00 iv‡me F 1 wel‡q cixÿv

15 gvndzR web wejøvj 97 83 91 85 86 0.00 iv‡me F AK…ZKvh©

16 Avwe` web bvCg 0.00 Abycw¯’Z

17 Avt ingvb gwbi 77 82 2 42 40 60 0.00 iv‡me F 1 wel‡q cixÿv

18 mvwR`yi ingvb 69 83 22 52 77 64 0.00 iv‡me F 1 wel‡q cixÿv

19 jvexe nvmvb dinv` 80 60 40 51 74 60 365 ### Rv:wRÏvb B 33 DËxY©

20 nvmvb web †ivKb DwÏb 40 75 44 50 45 50 304 50.67 RvB‡q` C 34 DËxY©

21 AvbvQ wgqv 87 90 88 58 86 87 496 82.67 gygZvR A 22 DËxY©

22 gy¯ÍvwdRyi ingvb BdvZ 62 60 93 66 84 71 436 72.67Rv:wRÏvb gyiZvdxA- 30 DËxY©

23 AvivdvZ †PŠayix 86 58 67 77 86 94 468 78.00Rv:wRÏvb gyiZvdxA- 28 DËxY©

24 dvwng web AvZvDi 15 19 2 54 16 40 0.00 iv‡me F AK…ZKvh©

25 wmqvg Abycw¯’Z

26 g~mv web kvnvjg 48 47 4 40 40 55 0.00 iv‡me F AK…ZKvh©

27 jvexe mi`vi[Avãyi ingvb] 89 96 66 60 99 98 508 84.67 gygZvR A 20 DËxY©

28 Ryev‡qi 99 92 100 96 99 96 582 97.00gygZvR gyiZvdxA+ 3 DËxY©

‡gvU cixÿv_©x 50  Rb, A+ = 5 Rb, A= 18 Rb, A-= 7 Rb, B= 3 Rb, C= 1 Rb, D= 0 Rb|

we‡kl we‡ePbvq DËxY© 3 Rb|  ‡gvU DËxY© 37  Rb, AK…ZKvh© 13  Rb| cv‡ki nvi 74%
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